Class 9 Maths Important Questions Hindi Medium

Chapter 2 9gUc

IRNBGNECAE

Uy 1.
SUYEI HAHHPT BT TAN $d g UPA (a — <) (a + +) <a2 + %) (a4 - %) I
DT

1
:a,8 ?
Uy 2.
TUFRIUS BITOTE- X2 - y2 + 2% + 1
Bal:

X2 -y2 +2x + 1
=x2+2x+1-y?
=(x+1)?-y?
=(x+T-y)(x+1+y)
=(X-y+1)(x+y+1)

U4 3.
(3% + 2y) (3X - 2y) (9x2 + 4y) BT UHHA J1d DI



Bl

(3x + 2y) (3x - 2y) (9x + 4y)
={(3%)% - (2y)%} (9% + 4y?)
= (9%? - 4y?) (9x? + 4y?)

= (9x%) - (4y?)?

=81x4- 16y*

Uy 4.

k & 5T A & forT x3 + 2x2 + 5x + k BT TS OFATUS (x + 1) &7

Bd:

g (x + 1) 3T 7T 9gUC F1 TS [UAEUS § i x + 1 = 0 = x = - 1 Y 9gUC &I A YA g1 dleu|
x3+2x%+5x+ k=0

(13 +2(-12+5(-1)+k=0

-1+2-5+k=0

-4+k=0

k=4

Ty 5.

g (x - 3) TEUG TAD p (x) = x3 - 3x2 + 4x - 12 BT U UHEUS § <l p (3) BT A |
Bal:

X-3=03x =3P p (x) @I R

P(3)=(3)3-3(3)2+4(3)-12

=27-3%x9+12-12

=27-27+12-12

=0



U4 6.
gfda+b=-cBdla+b3+3ab(a+b)BIAM cP Ul & forau|
Bl

UYTIR (a + b)® = a3+ b3+ 3ab (a + b)

~fearmar gy = a + b)

= (- =-C

UH 7.
SgUS <z+ %) <z+ %) &1 AP FU ferad gu gua o1 +ft frfeu

Bd:
ﬁmwagqﬁz (z+%)(:+%)
2.3,.4.,3 4
= 4L +4Z+3‘.+4K3
12 i i [
2 +(4+3).,+1
2 25
- +lzz+1

g1 TP AFS ¥ g dUT 39 dgUe &1 u1d = 2

U 8.

FATUT HIFOTE fb 2 3R 0 TgUGE x2 - 2x & LAD & |
Bl

M p (x) = x2 - 2x
Tdp(2)=2%2-2(12)=4-4=0
dUTp(0)=0-0=0

3fct: 2 3R 0 Gl 81 9gUG x2 - 2x & YLIAD g |

Y 9.
TEUG x4 +x3- 2x2 + x + 1 Bl x-1 F YT 4 R U AYBA 1A Hiorg |
Bl



TATTIR SgUC p (X) = x4+ x3-2x2 + x + 1 § AU x - 1 BT YLAD 1 B
pM=Mr+(13-2()+1+1

=1+1-2+1+1=2

3(: ATHE THT P TR x4 +x3 - 2x2 + x + 1 B (x - 1) YT G4 TR VB 2 U giell

T4 10.

TG (x - 1), 4x3 + 3x2 - 4x + k BT T UGS g, Tl k BT T J1d Do |

Bal:

Ffh AR (X - 1), p (X) = 4x3 + 3x2 - 4x + k BT Teb UFAUS § Y p (1) = 0 G
3d: p (1) =4(1)3 + 3(1)2 - 4(1) + k

~4+3-4+k=0

gk =-3

Ty 11.

(4a - 2b - 3¢) BT YR DI

Bl

(4a - 2b - 3¢)?

TAHBT (x +y +2)2 = X2 +y2 + 22+ 2Xy + 2yz + 2X B AR

= [4a + (- 2b) + (-30))°

= (4a)% + (- 2b)? + (-3¢)% + 2 (4a) (- 2b) + 2 (- 2b) (-3¢) + 2 (- 3¢) (4a)
= 16a% + 4b2 + 9¢? - 16ab + 12bc - 24ac

Uy 12.

8x2 +y3 + 2773 - 18xyz BT UHMUS BT

Bal:

UYTIER 8x3 + y2 + 2723 - 18xyz

=(2x)3 +y3+(37)2-3(2x) (y) (32)

= (2x+y +32) [(2x) +y +(32) - (2x) (y) - (y) (37) - (2%) (32)]
= (2x +y + 37) (4x? + y? + 97° - 2xy - 3yz - 6x2)

Uy 13.

JUI FAUTHPT BT YN Hd §U TGUG 16X + 24Xy + 9y? BT TUMEUE HITT|
Bal:

16x2 + 24xy + 9y?

[RIGETH®T (a + b)? = a2 + 2ab + b? BT YN HA R

= (4x)? + 2. (4x) (3y) + (3y)?

= (4x + 3y)?

Uy 14.
Iie TgUT f (x) = 2x* - 6x3 + 2x2 - X + 2, (X + 2) W YISF B1 Al ATBd J1d Hifod |



Bl

X+ 2=X-(-2)

AYHS THT &b TR M (%), (x + 2) = {X - (-2)} F U &1 A AUBd f (-2) P SRR AT
YT (x) = 2x* - 653 + 2x2 - x + 2

2f(-2)=2(-2)*-6(-22+2(-2?-(-2) + 2

=2x16-6X-8+2X4+2+2

=32 +48+ 8 +4

=92

- YYHA = 92

Uy 15.

TG Rid Hifort i ague x10 - 1 3R x11 - 1 &1 TS [UFAUS (x - 1) B

Bal:

qHET b p (x) = x10- 1

dqurqx)=x'""-1

I8 UGIRId B &b 7T b (x - 1), TG p (x) YT q (x) BT T [UFEUS &, T8 @1 TS b p (1)
=0T q(1)=0

Lp(x)=x"0-1aUqgx)=x""-1

=>pM=1"10-1a°q1)=1"-1

= p(1)=0dqYUTq(1)=0

3{d: T8 gl off Tehdll g b p (x) TUT g (x) TGUE BT (x - 1) T UMHETS B

TLRIHD T4

UH 1.
I W(XZ + y2 _ Z2)2 _ (X2 _ y2 + Z2)2
Bl
BEIRSIN
P+ -2 - (2 -y + )
WEATHR (x+ v+ 2’ =X +V + T+
2xy + 2yz + 2zx % FHTEAR
=D+ 0P+ =P+ 20D (D) +
20 (=D +2 (=) (D) = [P +
D+ @D+ 20D (=)
+2(=V) () + 2@ D]
= v e 2y - i 2 -
I+ v+ 2t - 2y - 2y22E 4+ 2%
=x*+ vyt + 2+ 2 - PP - 27
B Y T, S g Yo
= 4y - a2
= 4x* (y* - 29
=4x* (v-2) (v + 2)



Y 2.
e (z+ 3) =98 2 + = BTHN Fd BT

Bal:
NERIECa]
3 -
(x+l) =x"+i1+3.x,l(x+l)
X ¥ X X
1) s, 1 ( L)
= (x+x) =X +x3+3 X+
ITS""ITTETRx+%=9 @ W
- @ =r+ L 43,0
' X
= £+l =09-27
X
=729 - 27

=702

U4 3.
8x3 + 27y BT HIF T BT, TG 2x + 3y = 18 AU xy = 12,
Bcl

UHTIIR 2x + 3y =18 d¥UT xy =12

31S (2x + 3y)® = (2x)% + (3y)® + 3 (2x) (3y) (2x + 3y)
= 8x3 + 27y + 18 (2x + 3y)

[T (a + b)® = a3 + b3 + 3ab (a + b) & TAR]
= 8x3 + 27y3 = (2x + 3y)? - 18y (2x + 3y)
=(18)3-18x12x18

= 5832 - 3888

= 1944

Uy 4.
TGP (X) = x3 + 1 DI x + 1 T YT ¢4 R YT VB AT BT |

Bd.



37T Sufad & A9ha 0 7

U# 5.
% Wﬁ;wq(t):4t3+4t2_t_']’2t+1WWW%'

Bcl
31T ST € fb (1) TS 2t + 1 &1 T[0T had dd g1 oiddh 2t + 1 9 q(t) BT U o R DIg Ht

TRTAY A T2t +1=0

-_1
Aor=-5

o) - A
o gooefd

4.4
FR
1
2

1_
+2]

=0
3{d: q (t) BT 2t + 1 T HFT ¢ IR YT VB = 0
3fc: 2t + 1 f3U BT IGUTE q (t) P U UMMUS g 31T q (t), 2t + 1 BT T U g |

% 6.
QAT T B e TGUG 4x3 - 3x2 + 2x -4 B (x + ) F HIT fear =g
Bcl:

UHFAR x + 5 = 0 = x = - + (AU Y §gUG H UM B W



3ryfe AT
p) =4 -3+ 2x -4
S RCECECIE
p(z}'4(2 =3) 2 E)"
= 4x L 3,1
—4><_3 3x4 1-4

UA 7.

(12~ 5b+16)2 T TR BT

Bal:

UHIER (7a - 5b + 16)2

TAGHBT (@ + b + )2 = a2+ b2 + 2 + 2ab + 2bc + 2ca & HTAR HaJr (—;b) +16}

(&a)z +(—%5)Z +(16)? +2.(%a)
(_%b] + 2(—%&)(]6} + 2{16}(%&)

= jea+ 107+ 256~ Lav- 160+ 84

Uy 8.
Tfg 2x - 3 = a B, df Rig PINE fh 8x3 - 18ax = a3 + 27.
Bd:

UHIIR 2x -3 =a

S Tefl &7 g9 B R

(2x-3)*=(a)®

Jr(2x)>- 33 -3(2x) 3) (2x-3)=a3

[ GAUTH®T (a - b)3 = a3 - b3 - 3ab (a - b) & FIAR]
gqr8x3-27-18(x) (a)=a3

w2x-3=a

3(c: 8x3 - 18ax = a3 + 27 (3IRISH)

% 0.
e y = 3 Teb TGULIT SO fiy) = 6y> - 11y? + ky - 20 I T Ha 8 I k BT A T BIoTY|




Bal:

UYTIER f (y) = 6y> - 11y? + ky - 20
) - (g
— _f-[i)=QE._ 176 4k 20

3 9 9 3 1
_ dk_T76_dk=T6
-3 3 3

afe y=3 TEE [ () T g ¥ D

J=0

= ‘”L';m =0 = 4k-T76=0

= 4k =176
= k=19

|

4
3

% 10.

TG TGUG f (x) = X3 - 6x2 + 2x - 4, g (x) = 3x - 1 T HIST § dl VB J1d DI
Bal:

TR g (x) = 3% - 1 =3(:c — %)
- ATHT YT & 3R f (x), g(x)=3(:c — %) mm@mu%ﬁw(%) & SRR B

A f(x)=x3-6x2+2x -4

- 8) - o3 (4

1y _ 1 _6,2 4
:”-*'(i) =27 097377
l~18+18—1ﬂ3___1[}?
- 27 27
i _ _lo7
;TR = > E?IT
T 11.

g TgUT 2x% - ax3 + 4x2 + 2x + 1, (1 - 2x) GRT HIST § <l a BT AF 1d PIfoTg |
Bal:
OB p (x) = 2x4 - ax3 + 4x2 + 2x + 1



I I8 F8US p (x), TS (1 - 2x) GRIHI B Al (1 - 2x), p (x) BT T [OFRIUS BT

N [%) ~ax(} )+4( ) +2xd41=0

2 _a 4 =
— 6 8+4+2+I 0
l_g _
—y 373 +1+1+1=0
- B.g
5 8
= a=25 T
Uy 12.

& TG (x2 - 1) TGUE ax? + bx3 + cx? + dx +e BT TH UHEUS g Al aRd A fFa+c+e=b +d
=0

Bcl.

T fob

p(X)=ax*+bx3+cx?+dx+e

T (x2 - 1) TP U OIS g |

T (x - 1) (x + 1) THHT T OIS B |

31T (x - 1) TUT (x + 1) TGUE p (x) P TUFEUS ¢ |
Tp(1)=0dUp(-1)=

[+x-1=0=>x=1

dYyIx+1=0=>x=-1]

>a+tb+c+d+e=0

ddla-b+c-d+e=0

39 G GHIGRUN B S d g TR
2@+c+e)=0dUr2(b+d)=0
Jla+c+e=0ddTb+d=0

=a+c+e:b+d:O§%ﬁ§m

U% 13.

SgUG P x° - 73 - 8 BT UMWUS HifoIU|
Bal:

UYTAR x° - 7x - 8

aHT by = x3

3T (x3)2 - 7(x3) - 8

g y?-7y-8

=y?-8y+y-8

=y (y-8)+1(y-8)




=(y-8)(y+1)

y BTHM @A R (X3 - 8) (x3 + 1)
=(x3-23) (3 +13)
=(Xx-2)(x2+2x+4) (x + 1) (X2 -x + 1)
=(X-2)(x+ 1) (2 +2x+4)(x%2-x+1)





